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Fifth Semester B.E. Degree Examinatio{i',De c.2019 I J a,n.2020,.
Artificial I ntelli g,eL'i'ce

Time:3 hrs. ..",,*iiili.", *ax. Marks: g0
,:11:ti1,r,._

Note: Answer any FIVE full questions, choo.$ing'bNn pU Question from"each module.
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.o'|'rr)wrlteanyoneSolutl0ntutllgauuvgPruL,rgrrl.
i'+ b. Explain probienr characteristics with r"sp"ci to heuristic search. (08 Nrarks)
gc\
6 <l-

M{PuI6:1
E I a. What is Artificial Intelligen..t Lirt,t rins of Artificial Intelligence. (05 Marks)

R U. Explain Depth-First search algorithm,with an example. (05lllarks)

3',E irlil:' "'l:l:i''':' OR , 
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fi Z a. A water jug problem states "you are provided with two jugs, first one with 4-ga11on capacity
.b

E e and the r."o"a o.ne with 3-gutlon capacity. Neithe,t'"ift any measuring markers on it. How

H; can you get exactly 2*gallons of water into 4-galloniuq?"

t _1 i) Write down the production rules for the above problem.
* ; :ir ut*;*^ o-., ^-o "".lrrti.',r'r fo the ahove nro6lem. (08 Marks)

g E 3 a. Explai$.$igoli4 inheritance algorithp with example. ,,,,,,,. (06 Marks)

E E b. Wrrt-j\g ;,llgoriitrm for conversici-fii:tH lause form. ,,;$*iti, (10 Marks)

9e oR.<9

E 
-l 4 a. Explain forward versus Backward Reasoning with exarnples. (08}Iarks)

! [ 6. iiti tt 
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issues in knowlpdge representation. u.""i11..l,' i:'1r.,1 (04 Marks)

B ; ;. ;;fi"" Horn clause and giile the syntactic difference between PROLOG and logic. (04 Marks)

s E -rr'r1i:::::i:''1r 1ri'""

€ E Module-3
E E 5 a. Explain Dempster-shafer theory *itn--ilmf,if (06 Marks)

B E ' ;. ffii;t" p*I|i;r;Ji"-"'ii" N"o with example' (06 Marks)

' E s ;: g.i.av 
"*ptuit 

th. motivation or@y logic. --l:..,. (04 Marks)
,9 -e v' ur rwrrJ ! .!5 ;r c. Briefly explain LzzY logtc' ! .j

AKFF .: : OR
8 ) . - ,'r--.^r^r- -^.,^-;^- -or.'rnrL i. ,{.icil (08 IVIarks)
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F "a Module-2u;r- _j,.,,qii:i,....,,{ r.:#

g E 3 a. Explaip'fir y inheritance algorithp with example. 
;]::i:;1.. . 1:: Y:::l

u" X (t a. Exolain Bayesian network in detait' (08 IVIarks)

H E " ;. wff;;;# oi n.p"nae*y-oir".ted Backtracking. (08 Marks)

?Y :H'= lVladrrlo-dE E . "11", 
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.,,,, iriii'' Mo$,+tl;e"4

aI I a. O"frne Conceptual,bqpendency. Lisiihe rulbs of conceptual dependency. (08 Marks)
X" 'l a. Uellne Lonceptual'r":lqfi'suLrsulJ' rJrDr r'w rv

E' $ ;.. w;it. the algoiitfi#.fi? minimax (positibn, depth, players) and explain. (08 Marks)
a) 

=6=EE ORg; ,{ii"t,, ,, ,,,. .,'
X()
I I g a. What is affih What are the iffionents of a script? Write the Restaurant Script.

5 € 
u e' (lo Marks)

-: c.i b. Write the algorithm for: (i|;pepth frst iterative deepening (ii) Iterative deepening - A*'

E 
--o-------- - 

,....-.-,,f, (06 Marks)
oZ iitjtr:,,.: Module-S

E 9 a. Explain the differgntstefs in natural language understanding process. (08 Marks)

a b. E6i;i" candidael,,blimination algorithm with example. (08 Marks)
* i',1gru,.."r' OR

'rir' 
^".1'i+i^- (10 Marks)10 a. Explain knowledge acquisition'

b. e.iir*;fii classlfication of spell checking techniques. (06 Marks)
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